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I 1 mwn: npon and nvnw of a bird, inside or outside, vis-a-vis liability for yina nx5yn
a  If he did np’>n inside and then n&Yyn outside — liable

i

But if: he did np*on outside — exempt for nX>yn

b  If: he did nvnw inside and then nk%yn outside — exempt

i

But if: he did no'nw outside — liable for nxYyn

¢ Conclusion: the 9wan inside exempts him outside, and the liability outside (repaired from 1Mwsn) exempts him inside

i

ii

iii

Dissent (¢”): any case where there is liability for doing outside, if he does it inside and then yina n5yn — liable
1 Except: D19 nonw and yina nkyn — where there is no liability
Question: to what is w" responding?
1 Cannot be: R — ™ contending that np’>n outside should also lead to 21n
(a) Reason: if so, wording should be ...07192 Y9y Parnw 5
2 Cannot be: X0 — w™ contending that pina nvnw should also be exempt —
(a) Reason: if so, wording would be ...0091 9y 20 PRY 95
3 Rather: must be X9'0 — to say that just as he is 2n for yin no'nY, should be 27n for nna nvnNwY
(a) Block: that was the one exception he mentioned
4 Answer: there is another (hidden) statement of »"n to which he is responding
(a) »7yrp’n -if nnna no'nY was done at night o291 — 70a for yina nRYYN; if done outside — 2N
(i) w71 justas he is liable N3, so too if the nv'NY was done n%%Ya w291 - liable for yin nrYYN
(b) 37 p"n —if D7 was received in 91N 93 inside — 74 for PN NRYYN; if received outside YIn 91 — liable
(i) w”rjustas he is liable n3, so too if the o7 was received in 91 "3 inside - liable outside
However: version of mwn (HR1mMwT Mar) - v™" dissents about pina nHym yina pvn (he holds 2>n)
1 Now: v was responding to Xw» and had no exception (different from version in our niwn)

II  ’'n mwn: nRLVN BT MINN in one or two MV
a  If: the nron T was received in one "2

i

If: he put some on the narn inside then some outside — in either case — liable; since all 07 belongs inside

b But if: the nron T was received in two mo

i
ii

iii

If: he put both inside — 709; if he put both outside —27n
If: he put the first inside, then the other outside — 7109
But if: he put the first outside — 27n; then the 24 (put inside) is 1931

¢ Analogy: if he designated a nxon, it got lost and he designated another and then found the first — both available

i
ii

iii

If: he slaughtered both inside — 7109; both outside — 27n

If: he slaughtered the first inside and the 2" outside — 7108

But if: he slaughtered the first outside and the 2nd inside — he is liable for 1%t and the 2" is 7950

1  Note: if he slaughtered both inside, even though the second is %100 (7°9v2 ¥190mWw nron), the 77791 of the first
removes nyyn-status from both

III  Analysis and attribution
a  Putting o7from one v1soutside after putting inside: why should he be liable? This is n1n »17vw?

i
ii

Answer: our nwn follows n'nmi "7 (above, 1 mwn) — offering n1n »1»v generates liability

Challenge: in 274 clause, we rule that if the first 12 was offered inside, he is exempt if he offers 2"4 V13 outside
1 But: that is 070 »w — should be liable (according to 1)

2 Answer: we include disputant of w”ar1 who holds that one v invalidates the other (274 vy is n7)

b Analogy: what is the purpose of this analogy? (the ruling is obvious)

i

Answer: this is needed for »27: only if he designates the replacement while the 1+ is lost, but if he ab initio desig-
nates 2 mron (as backup), one is (already) an n5y
1 Per: 27's ruling that an nwx that was designated for grazing that was slaughtered onv is a valid n%w

(a) Challenge: an nWR could become an N9y — both are male, but a nxron is female

(b) Answer: a RW1 VYV is a male nron
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